EARAROBEEIERT — 2 N— IBISH —F

2015568340 () 4mP5I3H

Ml 7L v 2Ch (hRIBE)

Y IR2BHE

jin

‘ [Rfg] 2 ‘ [sEERR] — | & (&) 1000 =

[A~&£] 1 7% :1,500,000  ~ 23 :300,000  37&:225,0001™

4 7% 150,000 5 3& 75,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s s 2 | BIEBEE 1:03.2 2-2 38.4| — 3 416 | /NEFE (dtimiE)
1/8|9|F—hLAb 54.0 fo () |BFE .
L:N—HINK B:ECI7Fv 2 RIL RiEHS
3 j 2 | HFfAd 1:03.4 5-3 37.8| — 1 452 | EEBE (dtimE)
EE 2| PUA 54.0 ) (=) |Es
Rixq4yavR—3— B:JU—>eravF AR EER
i 2 | ERERIESE 1:03.5 1-1 38.9| — 4 s2 | MNBEA (i)
311/ 7F1hH 54.0 (3/4) (—) | RSB
LN=—HNE F:ZE2—U—FA1 b NVEY R T7—L
. # 2 | HLERE 1:03.9 3-3 38.6| — 2 466 | HFIEA (AtiEE)
4l7l7|V>/Ftx 54.0 o) (=) |FHUDH -
R:Z28—-)>r70-X #:357)a %—h iiLtae]
3 -_ 3 o2 | BT 1:04.0 7-6 38.0| — 5 440 | XER (LiEE)
5 4| Vv I1=—%—~L 54.0 (1/2) (=) A(1-5) ‘Fﬂmﬁ&%
Rix>indan— B:X—nNK—Y H— TADAS
= . # 2 | EAAREER 1:04.5 4-5 39.0| — 9 344 | BF (dtimiE)
6 3| &4 =—axy b 54.0 2 1/2) (—) |RE=
R:TAYHLKRZR B RTATA MH—IL EHE KB
. s alllE : = - KNG (GtimE)
slglglET—npA 2 | Bl - IR S | Tmes
LV TATHIA LR BELTHEAR B SEE B S
s = BHHAE : — — KMot (AbigE)
3 6| AvFry 7T LI B itSe 1(/35[:) o0 9.9 ! (354) EAR o
WSE DR WL SE = TR P) EE &
o FETY :06. -~ . - 252 (dbmE)
9|55 | Y¥INVE 2| B 1(036)3 8-8 | 40.2 8 (454) pian doei
R:TFyIa%S—F BNMLALRY—X il =T
® I—F—@EBIERL
13—-7-
23—7F—
T =35r= 1,9,7,3,2,8,4,5,6
40 —F— 1,9,(2,7),3,4,8,5,6
[ RN
B 9 730 794K 2-9 310 & 2-8 400/ &R 1-2-9 770
# B 9 130M 1-9 460 B E 2-9 670M EE 9-2-1 5,100/
2 110 1-2 270M B H 9-2 1,840/
1 150

ABICOVWTRDTEEERROODE. TR LIV,




